=%

FR28FE U—18-F =X —4 28A

2 BHAKWE MAdt  RE¥E 0 & e 1= M 03z =M R =HC B 5 8/ x 2 §
1079 101 9.25 918 9.3 710 6.725 6718 6711 4,9 4,/2
Z£m| : : : : : : : : : O3 : 11®@0 : 3 110 a4 -1| 7
BHMG 2MHG —f&G ZAG |[EZAKXAG| MAIG Z2HG HIZERG | MEXRG |mILUERG| %3IEG 15 | 20
1079 6725 101 6718 9./25 6711 9718 4,9 9.3 4,/3 710
BEKHE : : : : : : o1 o . lo1w: o : 2 |0 10144 1
ZHMG BHEMG | HMILEG =BG BHWG | E2HMG ZE®EG EIBEG EHMG EHEMWG | EHMG 55 | 00
101 6./25 618 924 6./12 917 4,9 9/4 4,/2 779 1078
&, : : : : @1 2 . |06 : 0 : : 110 7254
£MHG THHG EIGERE =EG mIFdEG | EIBERG G FIEERE ZHMHG TG [5G 35 | 10
925 101 6718 7.2 9./18 4,/9 9/4 8.728 779 1078 6./25
TR : : : : : O4 : 0 : : : : : 110 410 4|5
—fG fIHEG | FEBIEG —fGc |mUERG| FMIFRG |EmIXG|EUERG| =HG ZHEG | FIBEG 40 | 00
918 6.718 9,24 4,10 9.3 4,2 7.9 910 827 1072
=ik : : ® 1 : 2 O 4 ;1 : : : : 110 5326
£ HaG =EG =iEG —£G WAIEG | EHEG [ MAITEG| —BG =EG MAEG | ZEHILG 25 | 15
9.3 9.25 612 9./18 410 4,/2 710 1079 7.2 101 619
HE : : : : O 2 1 A1 1 : : : : : 11 8] 113
ERXAG| BHMc | MBide | EUERRG| Mada k34SC EFG | EmIEG|mUERG|EHIEG|mLUERG 15 |10
710 611 917 4,9 9.3 1078 6./25 101 6.718 9,25
“BHE : : . |®@ o0 : 4 oA T : : : : : 0|1 15_49
MAEKG | BHMG | MIBSEG | %G | EMEEG | F34SC E@ERG | EARG ZMHG EHRG | EARG 05 | 25
6./25 9./18 4,9 9/4 4,2 710 1078 101 618 9./24 611
= : - o2 ¢ 1 . @1 4 : : : : : : 110 315128
S HG G G | EEIEG(NATIEG| ZEMEG Z2HEG HEG |ZHIXG| TWERG =1¥G 15 | 25
6718 4,/9 9.4 8.728 7.9 1079 6./25 101 9./24 6711 917
03T : ® 0 : 1 : : : : : : : : : 0|0 01 -1110
MIFRG | WIGERG | Eikidke |mUERG| —fGc | EmIEG| ZHEG FHEG FHAG [EmMIEG| =G 00 | 10
6711 9.3 4./2 7.9 910 72 101 6718 9./24 9./18 4,/9
=H : : ® 0 : 6 : : : : : : : ® 0 : 5 0|0 0 1 -11[11
FEEG ZMG EHG EZHMHG =BG |MmUERG| FHG [ZHIXEG| =HG ZRmG ZHG 00 |55
4,9 4,/3 7.9 1078 827 101 6.718 9./24 6711 9./18 9.3
T ® 1 : 3/®@ 0 : 10 : : : : : : : : : 0|0 LY -12(12
EILEREG | BHHG WEG ZHEEG | MAkG |ZHIEG| ZAKG | TWEG | EFEIEG| TWEG R EG 05 | 65
4,2 710 1078 6./25 102 6719 9,25 6.711 917 4,9
=%fc |O 3 : 0 : : : : : : : : O5 :0 210 8 |0 8 |2
HIEG | BHMG FEEG MAIBEG | 2mitc | mUERG| ZHEEG =G =1¥G ZMG g3l 40| 00




